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‘ o IR ) HIEEICE ) KEREAIGE) HERL
Bi| =1 m3 m3 m3 m3 w5
(m) Wr @ T 1y B E Wr M 1 B E Wr @ T 1y B E Wr M 1 B =
0.0 0.0 0.0 0.0
No.3+2.9L4.50 1.620 45 2.25 3.6 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
No.3+2.9L.2.50 2.000 7.7 6.10 12.2 7.0 3.50 7.0 4.4 2.20 4.4 5.3 2.65 5.3
CL 2.500 0.0 3.85 9.6 5.3 6.15 15.4 4.3 4.35 10.9 0.0 2.65 6.6
No.3+2.9R2.50 2.500 5.3 2.65 6.6 7.7 6.50 16.3 4.4 4.35 10.9 5.1 2.55 6.4
No.3+2.9R4.50 2.000 8.8 7.05 141 0.0 3.85 7.7 0.0 2.20 44 0.0 2.55 5.1
3.400 0.0 4.40 15.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0

op

A 14.020 61.1 46.4 30.6 23.4




2EEERTTITHEHES(2)

~ E UL EmE B - £ 5) aREE
pil| R m2 m2 e
(m) B @ T 15 = B @ 1 = B @ T 15 = B @ 1y =
No.3+2.9L4.50 0.000 1.0
No.3+2.9L4.29 0.210 1.0 1.00 0.2
No.3+2.9L4.29 0.000 1.0 0.50 0.0
No.3+2.9L.2.50 1.790 1.4 1.20 2.1
CL 2.500 1.4 1.40 3.5
No.3+2.9R2.50 2.500 1.4 1.40 3.5
No.3+2.9R4.28 1.780 1.0 1.20 2.1
No.3+2.9R4.28 0.000 1.0 0.50 0.0
No.3+2.9R4.50 0.220 1.0 1.00 0.2
& i 9.000 0.4 11.2 0.0 0.0




MEREILTTIHETEEZ()
G HEmIEEI(ER) HmIEEIE) ANAEEI(ER)
p:(] m3 m3 m3 =
(m) By m E = Wr m E iy = W m E = Wr m E iy =
No. 16 + 4.180 11.0 6.5 2.1 No.16+2.9
No. 16 + 7.790 3.610 21.1 16.05 57.9 31.1 18.80 67.9 47 3.40 12.3 No.16+10Hi]
No. 16 + 12.030 10.0 5.00 0.0 1.7 0.85 0.0 47 2.35 0.0 No.16+10%%
No. 16 + 16.800 4.770 41 7.05 33.6 3.8 2.75 13.1 0.0 2.35 11.2 No16+17.3
| & 8.380 915 81.0 235 0.0




MEGREITTHEHES(2)
B KERAIE) ®t HEL
pe(| m3 m3 m3 wE
(m) By @ E Y # = W ™ E Y = Br m E Y = W ™ E Y =
No. 16 +  4.180 43 0.0 1.2 No.16+2.9
No. 16 +  7.790 3.610 29.3 16.80 60.6 0.0 0.00 0.0 1.2 1.20 43 No.16+1081
No. 16 + 12.030 1.7 0.85 0.0 0.0 0.00 0.0 3.2 1.60 0.0 No.16+107%
No. 16 + 16.800| 4.770 3.1 2.40 11.4 0.7 0.35 1.7 6.3 4.75 227 No16+17.3
| & 8.380 72.0 1.7 27.0 0.0
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FIEEE
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fina No. 16+19. +19.
No. 76+16. 80 (No. 3+16. 8)
2
=
No. 76+12.03 (No. 3+12. 03)
T
|
<
o~
=
TmEZE|E No. 16+9.3(No. 3+9.3)
No. 76+7.79 (No. 3+7.79)
o
o
3e)
No. 76+4.18 (No. 3+4. 18)
o
(=23
S
Eam¢gE No. 16+2.3(No. 3+2.3)
No. 76+7.09 (No. 3+1. 09)




FEEMIMEEHR

e R it E AR H=
PLEmEmER B -5 |BEIEBISEICED

HW-gE |0 0.0

VL EEER AR/ |77.5+436.1 113.6

(RIZHEREERZ:2.3m2)

R EmEmER B 13.8 13.8




FHBRIHEHEE(EE)

" UL EmEBREEW - L) U EmEBERGEN -5 ULEmERAN-LB) Bt EmER
A = i m2 m2 m2 m2 k=
(m) Wr m T B = Wr m I B = Wr m T B = Wr m I 1 B =
(1:0.697 £ &F)
No. 16 3.2 1.6
No. 16 +  2.900|  2.900 3.7 3.45 10.0 2.9 2.25 6.5
No. 16 +  7.380|  4.480 3.7 3.70 16.6 2.9 2.90 13.0 No.16+2.9
No. 16 + 10.000|  2.620 3.3 3.50 9.2 1.9 2.40 6.3
No. 16 + 17.300]  7.310 0.0 1.65 12.1 0.0 0.95 6.9
(1:1.290 £ &F)
No. 16 +  7.380 0.0 0.00 0.0 0.0 0.00 0.0
No. 16 + 10.000|  2.620 5.4 2.70 7.1 0.0 0.00 0.0
No. 16 + 16.380]  6.380 5.6 5.50 35.1 0.0 0.00 0.0 [No.16+17.3
No. 16 + 17.300]  0.930 0.0 2.80 2.6 5.6 2.80 2.6
No. 16 + 19.300]  2.000 0.0 0.00 0.0 5.6 5.60 11.2 |No.16+17.3
& i 29.240 47.9 715 13.8




FHEBERIKNEBHESE(ERF)

- UL EmE R M- T 5) Ul LiEm B R  E) ULiEmEBERAL- L) B EmER
;A J=1 B m2 m2 m2 m2 =
(m) B m T HE ¥ & T 15 M E B m T N E ¥ & T 15 M=

No. 16 1.0 0.0
No. 16 +  2900|  2.900 3.2 2.10 6.1 0.0 0.00 0.0
No. 16 + 10.000|  7.100 3.3 3.25 23.1 45 2.25 16.0
No. 16 + 13470  3.470 0.0 1.65 5.7 0.0 2.25 7.8
No. 16 + 14.830]  1.360 2.2 1.10 1.5 0.0 0.00 0.0 No.16+17.3
No. 16 + 17.300|  2.470 2.2 2.20 5.4 0.0 0.00 0.0 No.16+17.3
No. 16 + 15.930 0.0 0.00 0.0
No. 17 + 4.070 4.9 2.45 10.0
No. 17 0.940|  0.940 0.0 2.45 2.3

Gl 22.310 41.8 36.1
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EEETHEERR

e R it E AR =
18-5-40 =IFB
avol)—k sREREY 75.76+14.26 90.0
18-5-40 =YFB
e E R 28.84+8 36.8
RIKE 94.16+29.09 123.3
H #h 7.2 7.2
1E7KHR C-CE! 300x7 |5 5.0
BT Fyybox+—2 [(57.96+20)/1.8 433
ke % t=5cm 1.9+0.8 2.7
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IEmE X

15500
5300 1000 3000 1000 5200
1500 1500
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® ¢ ¥ s g
\ \ i / /
\ 5.100 m \ 5.000 m
6.600 m 6.500 m 7
\ / 3
“ ® ® o g |
\l 5.760 m 5.660 m o 3
\& /| o
N\ / o o
® ® gl g
\ 4.800 m 4.700 /
N 7 S
\ @ 4.200 m 4.100 m @ / =
1200 | 840 | 960 600, 4200 4100 600| 960 | 840 | 1200

%

320

i X
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1.400 m
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2000
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2.000 m

1600

2.200 m

1000

4000
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2200




1EFEHEEIH)—

- & |EETE|EELD|AETE | fEmLa| axs)—k 3 o8 ®

b H(m) al(m) a2(m) b1(m) b2(m) V(m3) V=H/6 x { (2xal+a2) Xbl + (2xa2+al) Xb2 }
1 1.000 4.200 4.800 2.200 2.000 9.44 1000 /6 x{(2x 4200 + 4800 )x 2200+ (2 x 4800 4200) x  2.000 9.44
2 1.000 4100 4.700 2.200 2.000 9.23 1000 /6 x{(2x 4100 + 4700 ) x 2200+(2 x 4700 4100) x  2.000 9.23
3 1.600 4.800 5.760 2.000 1.680 15.50 1600 /6 x{(2x 4800 + 5760 ) x 2000+ (2 X 5760 4800) x 1.680 15.50
4 1.600 4.700 5.660 2.000 1.680 15.21 1600 /6 x{(2x 4700 + 5660 ) x 2000+ (2 X 5660 4700) x 1.680 15.21
5 1.400 5.760 6.600 1.680 1.400 13.30 1400 /6 x{(2x 5760 + 6.600 ) x 1680+ (2 X 6.600 5.760 ) x  1.400 13.30
6 1.400 5.660 6.500 1.680 1.400 13.08 1400 /6 x{(2x 5660 + 6500 ) x 1680+(2 X 6.500 5660) x  1.400 13.08
7 2.000 5.100 5.300 1.400 1.400 14.56 2000 /6 x{(2x 5100 + 5300 )X 1400+ (2 x 5.300 5100 ) x  1.400 14.56
8 2.000 5.000 5.200 1.400 1.400 14.28 2000 /6 x{(2x 5000 + 5200 )X 1400+ (2 x 5.200 5.000) x 1.400 14.28

A&t 104.60|(m3)
1+2+3+4+5+6 75.76

7+8 28.84




BR-TER (1 SEEEER)

IEmE

15500
5300 1000 3000 1000 5200 320 1400
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de
HER
L By
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15500
5300 1000 3000 1000, 5200
1500 1500
5.200 m
- S gl o
" . & = A f
__ Plswon_ \g N ﬁ)eoim'Z . < __ RiBEE
E 5.000 m § zmul
534 m 4.434 m o
S s
4.534 m 4.434 m Ny ©
N o
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S
® g
1200 | 840 | 960 |600) 4200 4100 600] 960 | 840 | 1200




1SEEERA0)

e B |EETI|EELD| REQE | EEOE B =il i BEE BEEHA@EE e
H(m) al(m) a2(m) n m Al=(a1+a2)/2 X HX " (1+n9)| A2=(al1+a2)/2 X H X J_(1+m?) A1+A2(m2) [A3=(a1+a2)/2 x H(m2)
i 1000 3082 3633 0200 3.42 0 3.42 RS
2 1.000] 3082  3633]  0.200 3.42 0 3.42 RGIER
3-1 1000  3633] 4184 0200 3.99 0 3.99 RS
3-2 0600  4.184] 4515  0.200 2.66 0 2.66 2,61
4-1 1000  3633] 4184 0200 3.99 0 3.99 RS
4-2 0600  4.184] 4515  0.200 2.66 0 2.66 2,61
5 1400  4515|  5287]  0.200 7.00 0 7.00 6.86
6 1400  4515|  5287]  0.200 7.00 0 7.00 6.86
7 2000  5100] 5300  0.000 10.40 0 10.40 10.4
8 2000  5000] 5200  0.000 10.20 0 10.20 10.2
Nt 54.74 39.54




1EEEERZR(2)

e B |EETI|EELD| REQE | EEOE B E=Rilp i BREE BEEHA@EE e
H(m) al(m) a2(m) n m Al=(a1+a2)/2 X HX " (1+n9)| A2=(al1+a2)/2 X H X J_(1+m?) A1+A2(m2) |A3=(al+a2)/2 X H(m2)
13 1.400| 4534 4534 0.000 0.00 6.35 6.35 RS
14 1.400 4434 4434 0.000 0.00 6.21 6.21 "
15-1 0.600 5.100 5.160 0.000 0.00 308 3.08 "
15-2 1400 5160 5300 0.000 0.00 7.32 7.32 7.32
16-1 0.600 5.000 5.060 0.000 0.00 3.02 3.02 "
16-2 1400 5060 5200 0.000 0.00 7.18 7.18 7.18
(faIE) 0.00 0
15-1 0600  1.400]  1.400|  0.500 0.94 0 0.94 RIGIER
15-2 1400  1.400|  1.400| 0500 2.19 0 2.19 1.96
16-1 0600  1.400]  1.400|  0.500 0.94 0 0.94 RGIER
16-2 1400  1.400|  1.400| 0500 2.19 0 2.19 1.96
a5t 94.16 57.96
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2EEHEEIVH)—F

- & |EETE|EELD|AETE | fEmLa| axs)—k 3 o8 ®
b H(m) al(m) a2(m) b1(m) b2(m) V(m3) V=H/6 x { (2xal+a2) Xbl + (2xa2+al) Xb2 }
1 1.000 5.000 6.000 1.400 1.200 713 1000 /6 x{(2x 5000 + 6.000 ) x 1400+(2 X 6.000 + 5000) %X 1200 }= 7.13
2 1.000 6.000 7.000 1.200 1.000 7.13 1000 /6 x{(2x 6000 + 7000 )x 1200+(2 x 7000 + 6.000) %X 1.000 }= 7.13
3 2.000 2.000 2.000 1.000 1.000 4.00 2000 /6 x{(2x 2000 + 2000 )x 1000+(2 x 2000 + 2000)x 1000 }= 4.00
4 2.000 2.000 2.000 1.000 1.000 4.00 2000 /6 x{(2x 2000 + 2000 )X 1000+(2 X 2000 + 2000)x 1000 }= 4.00
A&t 22.26|(m3)
1+2 14.26
3+4 8.00
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2EEEENR

e B |EETI|EELD| REQE | EEOE B E=Rilp i BREE BEEHA@EE e
H(m) al(m) a2(m) n m Al=(a1+a2)/2 X HX " (1+n9)| A2=(al1+a2)/2 X H X J_(1+m?) A1+A2(m2) |A3=(al+a2)/2 X H(m2)
2 1000  3764|  4764|  0.200 4.35 0 4.35 RS
3 2000  2000] 2000  0.000 4.00 0 4.00 4
4 2000  2000] 2000 0000 4.00 0 4.00 4
6 1000 3764  4.764 0.000 0.00 4.26 4.26 RGIER
7 2000  2000] 2000 0.000 0.00 4 4.00 4
8 2000  2000]  2.000 0.000 0.00 4 4.00 4
(faIE) 0.00 0
7 2000  1.000] 1000  0.500 2.24 0 2.24 2
8 2000  1.000] 1000  0.500 2.24 0 2.24 2
a5t 29.09 20
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e R it E AR HE
18-5-40 =IFB
av9g1)—k SaEREY 7.3+7.3+11.7+12.2 38.5
18-5-40 =YFB
EREREL 8.5+6.4+2.8+2.3 20.0
RIKE 54.5+40+34.6+33.6 162.7
BT Fyb+—4 [9.5+5.6+8.1+8.1 31.3
KiRENAT VP75 3.4+2.6+1.1+0.9 8.0
0% 1 [ AE 44 300 x 300 X 10 |0.7+0.5+0.2+0.2 1.6
R=IM4Y t=5cm 0.8+0.8+1.3+1.4 43

Hith#t fE &5 5 B R 10mm|4.3+3.2+5+5 17.5




-1SREEET HEHREE
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1-15RIEERT =7 4n(FH)

1 6401 497 1233
g 1248 ° KB
w00 i A PRALIN TR RAX
I o © 2
V142,327 !
T5REA b | |is
t=10mm EE :
ki E/S4 F (VP-75) 2. 5n2 s N S| 2 |k
B KNZEEY LOERIDHI-RE S ER) S
3080 h v140.527 | |8 " - /
g g 08 — i
é ” iy Sl axmeT 8 | g
@ = ISAZAF
t=10mm
v138.927 7 ? V139,587
KapE > <
t=1400 z ki
5 \ ~i1 6401 o
6717 1730
R=542Q /
=Eon DL=135. 000
A% - R &t g ® BafT o =
(1.0m¥%f- 1)
avyy—+k
(o ck=18N/mm2) V= (0. 3+0. 1%H+0. 3) /2*H m3
=B
(BmEEY) A= 1.118xH m2
Rty
(EmEEY) A= 1.007xH m2
(Fvy boA—
) Ll=H /1.8 2mlEhiRIGELE m
KikENA T
(VP75) L= (0. 3+0. 1xH+0. 3) /2%H/2. 5 18 FT/2. 5m2 m
% | [ LE %4
(300+300%10) A= 1.007%H/2. 5%0. 3%0. 3 m2
N T V= 1. 007#H0. 05 m3
= V= (0. 3+0. 1%H) *0. 05 m3
B ikt
(t=10mm) A= (0. 3+0. 1%3. 4+0. 3) /2%3. 4+ (0. 3+0. 1%5. 0+0. 3) /2%5. 0 m2 4,348




-1SREEET HEHREE

£ - % o8 = oy =
1.0zt &7-Y)
£ E L=7.4 m 7.
arvyy—+k
(o ck=18N/mm2) ERERAY m3 7.
EREREL m3 8.
RL
(EFREEY) A= 34.748 m2 34
=L
G ) A= 19. 848 m2 19.
m2 54,
(Frvbor—
5) L= (31.08-2. 0% (7. 246+6. 717) /2) /1. 8 m 9.
KigE/NN4 T
(VP75) L= 3.402 m 3.
% HH B LB %4
(300%300%10) A= 0. 715 m2 0.
ST V= 0.57+0. 24 m3 0.
B #h#t
(t=10mm) A= 4.348 m2 4.




-15AZEFRT BEHEE

N 26 B = avy)—+ (m3) R (m2) .
" (m) (m) WE  THEGE KB | NE TYEE X8
No. 16 10. 700 0.000 0.000 0.00
No. 16 10. 700 0.316 3. 369 1.578 0.7891 0.249 3.71 1. 883 0.60
No. 16 17. 300 6. 401 4.837 2.621 2.0996 13.439 5. M1 4.587 29. 36
No. 16 17. 800 0. 497 3.564 1.704 2.1626 1.075 3.98 4.696 2.33
No. 16 18. 550 1.233 0.000 0.000 0.8522 1. 051 0.00 1.992 2. 46
(£45) N5t 15.814
No. 16 10. 700 0.000 0.000 0.0000 0.000
No. 16 10. 700 0.316 2.119 0.860 0.4301 0.136
No. 16 17. 300 6. 401 2.907 1.295 1.0774 6.897
No. 16 17. 800 0. 497 2.968 1.331 1.3127 0. 652
No. 16 18. 550 1.233 0.000 0.000 0.6654 0. 820
(EBEERA L) MG 8.506
(EEERHY) NE 7309
=1 16. 894 15. 814 34.75
. hick =X RER (m2) RBi5 (m2)
AR W | ™ | wm vosm mE | wm wowm mE |
No. 16 10. 700 0.000 0.00
No. 16 10. 700 0.316 3. 369 3.37 1.685 0.53
No. 16 17. 300 6. 401 4.837 4.84 4.103 26. 26
No. 16 17. 800 0. 497 3.564 3.56 4. 201 2.09
No. 16 18. 550 1.233 0.000 0.00 1.782 2.20
No. 16 10. 700 0.000 0.00 0.000 0.00
No. 16 10. 700 0.316 2.119 2.13 1.067 0.34
No. 16 17. 300 6. 401 2.907 2.93 2.531 16. 20
No. 16 17. 800 0. 497 2.968 2.99 2.958 1.47
No. 16 18. 550 1.233 0.000 0.00 1. 494 1.84
&5t 16. 894 19. 85 31.08




-15AZEFRT BEHEE

A A fist =X KigZzIR4 T (m) W% H B 1E #4 (m2) .
" (m) m | wE THGE KE | WE TOHE NE
No. 16 10. 700 0. 000 0. 000 0.00
No. 16 10. 700 0.316 2.119 0.344 0.1720 0. 054 0.08 0.038 0.01
No. 16 17. 300 6. 401 2.907 0.518 0.4310 2.759 0.1 0. 091 0.58
No. 16 17. 800 0.497 2. 968 0.532 0.5251 0. 261 0.1 0.106 0.05
No. 16 18. 550 1.233 0. 000 0.000 0.2662 0.328 0.00 0. 054 0.07
a8t 8.447 3. 402 0.7
. §5 =X R=5420 (m3) R=5420Q (m3)
AR W | ™ | wm vosm mE | wm womm mE |
No. 16 10. 700 0. 000 0.00
No. 16 10. 700 0.316 1.250 0.06 0.031 0.01
No. 16 17. 300 6. 401 1.930 0.10 0. 080 0.51
No. 16 17. 800 0.497 0.595 0.03 0. 064 0.03
No. 16 18. 550 1.233 0. 000 0.00 0.015 0.02
No. 16 10. 700 3. 369 0.03 0.016 0.00
No. 16 10. 700 0.316 3. 369 0.03 0.032 0.01
No. 16 17. 300 6. 401 4.837 0. 04 0. 036 0.23
ait 15.164 0.57 0.24




125R2ERT BEHEE

MEREUVSER
1-2BBBEET L=7.2n(TH)
1206 6401 316
[—‘@1 f 7246 f
) V143.074 :E %
o s
e i
~ —\—g g (=8 /lf
=+ 3 s - 1 i"f -
- vi40.981 "\ [ \;;;fjg ° g
\\ Kz § wE iLI K140, 327
g - P\ v 138. 927
R—5142Q 5 E
t=bcm ool 6401 1
1206 6717
DL=135.000
BT - FRE Ha " = B Y B
(1.0m&71=Y)
avoy—+4
(o ck=18N/mm2) V= (0. 4+0. 1xH+0. 4) /2%H m3
TR
(EEEY) A= 1.118+H m2
ERIR
(EEEY) A= 1.007*H m2
(Frvbotr—
7) L=H /1.8 2mllEh>EGEtE m
KikE/NA4 T
(VP75) L= (0. 4+0. 1xH+0.4) /2%H/2.5 18 F7/2. 5m2 m
% HH B 1E#F
(300%300%10) A= 1.007xH/2. 5x0. 3*0. 3 m2
ST V= 1. 007*Hx0. 05 m3
ST V= (0. 4+0. 1%H) %0. 05 m3
B th#f
(t=10mm) A= (0. 3+0. 1%3. 4+0. 3) /2%3. 4%2 m2 3.196




125R2ERT BEHEE

275 - B T Bifh |
1.0k&71-v)
£ E L=7.2 m 7.
avol)—k
(o ck=18N/mm2) EiREREY m3 7.
EREREL m3 6.
wRER
(EFHEEY) A= 26.976 m2 27.
=14
(EFHEEY) A= 13. 030 m2 13.
&t m2 40.
(Frvbotr—
4) L= (24.129-2. 0% (7. 246+6.717) /2) /1. 8 m 5.
KigENRA4T
(VP75) L= 2.556 m 2.
0% HH [ 1E A4
(300%300%10) A= 0. 469 m2 0.
G V= 0. 56+0. 25 m3 0.
B 1
(t=10mm) A= 3.196 m2 3.




125R2EFRT BEHEE

N 26 B = avy)—+ (m3) R (m2) .
" (m) (m) WE  THEGE KB | NE TYEE X8
No. 16 10. 700 0.000 0.000 0.00
No. 16 10. 700 0.316 3. 369 1.915 0.9576 0. 303 3.71 1. 883 0.60
No. 16 17. 300 6. 401 3. 369 1.915 1.9151 12.259 3.71 3.767 24. 11
No. 16 18. 180 1. 206 0.000 0.000 0.9576 1.155 0.00 1. 883 2.21
(£5) NGt 13.716
No. 16 10. 700 0. 000 0.000 0.0000 0.000
No. 16 10. 700 0.316 2.189 1.115 0.5576 0.176
No. 16 17. 300 6. 401 1. 469 0.695 0.9053 5.795
No. 16 18. 180 1. 206 0.000 0.000 0.3477 0.419
(EBEERG L) MG 6,391
(EEERHY) NG 7.325
=1 15. 846 13. 716 26. 98
. hick =X RER (m2) RBi5 (m2)
AR W | ™ | wm vosm mE | wm wowm mE |
No. 16 10. 700 0.000 0.00
No. 16 10. 700 0.316 3. 369 3.37 1.685 0.53
No. 16 17. 300 6. 401 3. 369 3.37 3. 369 21.56
No. 16 18. 180 1. 206 0.000 0.00 1.685 2.03
No. 16 10. 700 0.000 0.00 0.000 0.00
No. 16 10. 700 0.316 2.189 2.20 1.102 0.35
No. 16 17. 300 6. 401 1. 469 1.48 1.842 11.79
No. 16 18. 180 1. 206 0.000 0.00 0.740 0.89
&5t 15. 846 13.03 24.13




125R2EFRT BEHEE

A A fist =X KigZzIR4 T (m) W% H B 1E #4 (m2) .
" (m) m | wE THGE KE | WE TOHE NE
No. 16 + 10.700 0. 000 0. 000 0.00
No. 16 + 10.700 0.316 2.189 0.446 0.2230 0.070 0.08 0. 040 0.01
No. 16 + 17.300 6. 401 1. 469 0.278 0.3621 2.318 0.05 0. 066 0.42
No. 16 + 18.180 1. 206 0. 000 0.000 0.1391 0.168 0.00 0.027 0.03
a8t 1.923 2. 556 0.47
. §5 =X R=5420 (m3) R=5420Q (m3)
AR W | ™ | wm vosm mE | wm womm mE |
No. 16 + 10.700 0. 000 0.00
No. 16 + 10.700 0.316 1.180 0.06 0. 030 0.01
No. 16 + 17.300 6. 401 1.900 0.10 0.078 0.50
No. 16 + 18.180 1. 206 0. 000 0.00 0. 048 0.06
No. 16 + 10.700 3. 369 0. 04 0.018 0.00
No. 16 + 10.700 0.316 3. 369 0. 04 0. 037 0.01
No. 16 + 17.300 6. 401 3. 369 0. 04 0. 037 0.24
ait 14. 640 0.56 0.25




25REEERT (AR BEHREE

MEREUVSER
2Ef|BEEE T L=6. 2m (F1Y)
16 4996 1390 28b
; 5850 >
2 é’.V142.327
)
g,(17 24k
/‘ﬁ|/._ t=10m|
N4 7 - . 5m -
% §§3’ﬁ§;3ia§¥£,ﬁ72§f§ﬁf§;§ v138. 801 // & / -
_ | e 7 2|/ :
g SuEANEL \,jA g (EE) Vi8], 347
? g w5
g 8| wuesor ||l | o
” | S[Bamex // |
Kmz v135. 807 VI e
t=1000 DL=135.00 o
w T 1996 7
t=5cm
5412 1390 28p
BT - FRE H k- = Bify H E
(1.0m&71=Y)
arvyy—+k
(o ck=18N/mm2) V= 0. 559%H m3
gty
(EEEY) A=1.118xH m2
ERR
(EEEY) A=1.118xH m2
(Frvbotr—
7) L=H /1.8 2mllEh>EGEtE m
KiRENAT
(VP75) L= 0.559%H/2. 5 18 F7/2. 5m2 m
0% H [ 1k #4
(300%300%10) A= 1.118xH/2. 5x0. 3*%0. 3 m2
= V= 1. 118%Hx0. 05 m3
ST V= 0. 559%0. 05 m3
B tth#t
(t=10mm) A= 0. 559%3. 0+0. 559%6. 0 m2 5.031




25REEERT (AR BEHREE

AR - IR Bt g = Bifsr 2
1.0k&71-v)
£ E L= 6.2 m 6.
avol)—k
(o ck=18N/mm2) EiREREY m3 11.
EREREL m3 2.
wRER
(EFHEEY) A= 28. 950 m2 29,
ERIH
(EmHEEY) A= 5.552 m2 5.
&t m2 34,
(Frvbotr—
4) L= (25.895-2. 0% (5. 85+5.412) /2) /1.8 m 8.
KigENRA4T
(VP75) L=1.110 m 1.
0% HH [ 1E A4
(300%300%10) A= 0. 200 m2 0.
G V=1.17+0.15 m3 1.
B 1
(t=10mm) A= 5. 031 m2 5.




2EREERT (BF) REHEE
- 26 B = avy)—+ (m3) R (m2) .
’ (m) (m) WE TFHNE KB | HE THSE X2
No. 16 3.300 0.000 0.000 0.00
No. 16 3.300 0.416 2.960 1.655 0.8273 0. 344 3. 31 1.655 0.69
No. 16 8.500 4.996 5.116 2.860 2.2572 11.271 5.72 4.514 22.55
No. 16 9.300 1. 390 1.850 1.034 1.9470 2.706 2.07 3.894 5.41
No. 16 9.300 0.285 0.000 0.000 0.5171 0.147 0.00 1.034 0.29
(&4K) NGt 14,475
No. 16 3.300 0.000 0.000 0.0000 0.000
No. 16 3.300 0.416 0. 860 0.481 0.2404 0.100
No. 16 8.500 4.996 0. 666 0.372 0.4265 2.131
No. 16 9.300 1. 390 0.612 0.342 0.3572 0.497
No. 16 9.300 0.285 0.000 0.000 0.1711 0.049
(EHEERA L) NGt 2.776
(E8EERH Y) INEE 11,699
&5 | 14.174 14. 475 28.95
51 hick =X RER (m2) RBi5 (m2) .
’ (m) (m) WE FHEE KE | WE THSE  HE
No. 16 3.300 0.000 0.00
No. 16 3.300 0.416 2.960 2.96 1. 480 0.62
No. 16 8.500 4.996 5.116 5.12 4.038 20.17
No. 16 9.300 1. 390 1.850 1.85 3.483 4.84
No. 16 9.300 0.285 0.000 0.00 0.925 0.26
No. 16 3.300 0.000 0.00 0.000 0.00
No. 16 3.300 0.416 0. 860 0.96 0. 481 0.20
No. 16 8.500 4.996 0. 666 0.74 0. 853 4.26
No. 16 9.300 1.390 0.612 0.68 0.714 0.99
No. 16 9.300 0.285 0.000 0.00 0.342 0.10
&5t 14.174 5.55 25.89




2EREERT (BF) REHEE
A A fist =X KigZzIR4 T (m) W% H B 1E #4 (m2) .
g (m) (m) WE THEE NE | NE THSE NE

No. 16 + 3.300 0.000 0.000 0.00

No. 16 + 3.300 0.416 0. 860 0.192 0.0961 0.040 0.03 0.017 0.01

No. 16 + 8.500 4.996 0. 666 0.149 0.1706 0.852 0.03 0.031 0.15

No. 16 + 9.300 1. 390 0.612 0.137 0.1429 0.199 0.02 0.026 0.04

No. 16 + 9.300 0.285 0.000 0.000 0.0684 0.020 0.00 0.012 0.00
&5t 7.087 1.110 0.20

I §5 =X R=5420 (m3) R=5420Q (m3) .
" (m) (m) WE FHEE KE | WE THSE  HE

No. 16 + 3.300 0.000 0.00

No. 16 + 3.300 0.416 2.100 0.12 0.059 0.02

No. 16 + 8.500 4.996 4. 450 0.25 0.183 0.91

No. 16 + 9.300 1. 390 1.237 0.07 0.159 0.22

No. 16 + 9.300 0.285 0.000 0.00 0.035 0.01

No. 16 + 3.300 2.960 0.03 0.014 0.00

No. 16 + 3.300 0.416 2.960 0.03 0.028 0.01

No. 16 + 8.500 4.996 5.116 0.03 0.028 0.14
&5t 12.499 1.17 0.15




2EREERET (EF) BESHEE
MEREUVSER
25 @B E T L=6.2m (F1Y)
485 1390 4996 41
; 5850 E
o vi42 397 =
559 2
SR 6N
=10mm I_
KikE /84 F (VP-75)@2. 5m2 = \I\
%?ﬂxﬂfg&*:zo KMELYEQER THEICKE i
o 5 o/v . \\ 5 § \\ 17138. 807
i & v131.3347 E H%}%) >§’ fj#”“”l
S ol Y || v136.807 8
\\ Kz ¢ . | -
K& >
Noae 000 v136. 327 )
mc;ﬂ( DL=135. 000 = M
R=542Q@ ; ;
t=bcm 4996 1
485 1390 5412
2 - R it k- = Bify ¥ E
(1.0m&71=Y)
avoy—+4
(o ck=18N/mm2) V= 0. 559%H m3
gty
(EmEEY) A=1.118%H m2
ERR
(EmEEY) A=1.118%H m2
(Frvbotr—
7) l=H /1.8 2mllEHiSREIBELE m
KiRENAT
(VP75) L= 0.559%H/2. 5 18 F7/2. 5m2 m
0% B 1E A4
(300%300%10) A= 1.118xH/2. 5x0. 3*%0. 3 m2
0 V= 1. 118xHx0. 05 m3
e V= 0. 559%0. 05 m3
B #h#t
(t=10mm) A= 0.559%3. 0+0. 559%6. 0 m2 5. 031




25RERERT (EF) BEHREE

AR - IR Bt g = Bifsr 2
1.0k&71-v)
£ E L= 6.2 m 6.
avol)—k
(o ck=18N/mm2) EiREREY m3 12.
EREREL m3 2.
wRER
(EFHEEY) A= 28. 950 m2 29,
ERIH
(EmHEEY) A= 4.583 m2 4.
&t m2 33.
(Frvbotr—
4) L= (25.895-2. 0% (5. 85+5.412) /2) /1.8 m 8.
KigENRA4T
(VP75) L=0.917 m 0.
0% HH [ 1E A4
(300%300%10) A= 0. 165 m2 0.
G V=1.22+0. 15 m3 1.
B 1
(t=10mm) A= 5. 031 m2 5.




2ERIEERET (K8 HEHEE
- 26 B = avy)—+ (m3) R (m2) .
’ (m) (m) WE TFHNE KB | HE THSE X2
No. 16 3.300 0.000 0.000 0.00
No. 16 3.300 0.416 2.960 1.655 0.8273 0. 344 3. 31 1.655 0.69
No. 16 8.500 4.996 5.116 2.860 2.2572 11.271 5.72 4.514 22.55
No. 16 9.300 1. 390 1.850 1.034 1.9470 2.706 2.07 3.894 5.41
No. 16 9.300 0.285 0.000 0.000 0.5171 0.147 0.00 1.034 0.29
(&4K) NGt 14,475
No. 16 3.300 0.000 0.000 0.0000 0.000
No. 16 3.300 0.416 0.630 0.352 0.1761 0.073
No. 16 8.500 4.996 0.596 0.333 0.3427 1.712
No. 16 9.300 1. 390 0.587 0.328 0.3306 0. 460
No. 16 9.300 0.285 0.000 0.000 0.1641 0.047
(EHEERA L) NG 2.292
(EfEERH Y) INET 12,183
&5 | 14.174 14. 475 28.95
51 hick =X RER (m2) RBi5 (m2) .
’ (m) (m) WE FHEE KE | WE THSE  HE
No. 16 3.300 0.000 0.00
No. 16 3.300 0.416 2.960 2.96 1. 480 0.62
No. 16 8.500 4.996 5.116 5.12 4.038 20.17
No. 16 9.300 1. 390 1.850 1.85 3.483 4.84
No. 16 9.300 0.285 0.000 0.00 0.925 0.26
No. 16 3.300 0.000 0.00 0.000 0.00
No. 16 3.300 0.416 0.630 0.70 0. 352 0.15
No. 16 8.500 4.996 0.596 0.67 0.685 3.42
No. 16 9.300 1.390 0.587 0. 66 0. 661 0.92
No. 16 9.300 0.285 0.000 0.00 0.328 0.09
&5t 14.174 4.58 25.89




2ERIEERET (K8 HEHEE
A A fist =X KigZzIR4 T (m) W% H B 1E #4 (m2) .
g (m) (m) WE THEE NE | NE THSE NE

No. 16 + 3.300 0.000 0.000 0.00

No. 16 + 3.300 0.416 0.630 0.141 0.0704 0.029 0.03 0.013 0.01

No. 16 + 8.500 4.996 0.596 0.133 0.1371 0.685 0.02 0.025 0.12

No. 16 + 9.300 1. 390 0.587 0.131 0.1323 0.184 0.02 0.024 0.03

No. 16 + 9.300 0.285 0.000 0.000 0.0656 0.019 0.00 0.012 0.00
&5t 7.087 0.917 0.16

I §5 =X R=5420 (m3) R=5420Q (m3) .
" (m) (m) WE FHEE KE | WE THSE  HE

No. 16 + 3.300 0.000 0.00

No. 16 + 3.300 0.416 2.330 0.13 0.065 0.03

No. 16 + 8.500 4.996 4.520 0.25 0.191 0.96

No. 16 + 9.300 1. 390 1.263 0.07 0.162 0.22

No. 16 + 9.300 0.285 0.000 0.00 0.035 0.01

No. 16 + 3.300 2.960 0.03 0.014 0.00

No. 16 + 3.300 0.416 2.960 0.03 0.028 0.01

No. 16 + 8.500 4.996 5.116 0.03 0.028 0.14
&5t 12.499 1.22 0.15




KNI HEEER
E A& it ' R =
18-5-40 =4FB
avol)—k sREREY 34.2+421.5 557 m
B #h#4 FE# E B #h4R 10mm|32+20.6 526 m’
R—54a09")—Fk t=5cm 0.9+0.9 18 m




185KIMa>o1)—k

EftEE B = B OEBE £ NO.
18KkmMavsy—+ /
18KMa>sy—+F /
/u,f
| ees
| ame00
6600
] 6600 5 \\
6959
=D
2 ¥R Hi = = B ff # =
avyl)—k
18-5-40 ((5.648+3.0) /2%6.959+(4.1+1.6)/2%6.6)/2%1.4 m3 34.2
B #h#f
FEEE B #iR10mm [1.436%¢ (172+0.25"2)%(5.648+4.1)/2+1.4%(3.0+1.6)/2 m2 10.4
1. 4%y (172+0.5"2)%(7.084+6.717)/2%2 m2 216
&% m2 32.0
R—54>avH)—k
t=5cm ((4.1+1.6)/2%6.6)%0.05 m3 0.9




28 KMNavo)—k

SEEE B E FF OFE £ NO.
28KkmMarvsy—+¢
2BAMa Ly y—F _
g
j IS ] 5200 204
- T
5200 204 L
5404 L ]
=D
20 - R it ' A =R 2 HE
avo)—k
18-5-40 ((6.144+3) /2%5.404+(5.0+2.0)/2%5.2)/2%1.0 m3 215
H #th4f
FEEE B #iR10mm |1.02%y (172+0.272)%(6.144+5.0)/2+1.0%(3.0+2.0)/2 m2 8.3
1.0%y (172+0.572)%(5.628+5.412)/2%2 m2 12.3
A& m2 20.6
R—=ZA4>ar9")—hk
t=5cm ((5.0+2.0)/2%5.2)%0.05 m3 0.9




M THESRHR

E R it E AR s
avy)—k 18-5-40 =4FB [15.53+3.93 19.5
REE S ER B 4 INEY 12.28+2.68 15.0
fl 55 B #h B 4% INEY 1.83+0 1.8




BR-TER (1 SEEEMGZI7)—)

(1) L@ A= 2670 m2

@ L@ A= 0.408 m2
T@E A= 0.000 m2

@ L@ A= 0.589 m2
THE A= 0.408 m2

@ L& A= 1.067 m2
TE A= 0.406 m2

t@E A= 0.541 m2
TE A= 0.383 m2

@ LE A= 1.067 m2
TE A= 0.406 m2

@ L& A= 0.663 m2
TE A= 0.589 m2

L@ A=0.613 m2
TE A= 0.541 m2




BR-TER (1 SEEEMGEIVY)—)

HEE 7 1 I

€i'3 -7
s
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IEmEEX
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N 1237wl N\ \ v / /1137 )
\ | | 7
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o A\ / =3
< \ ® \ ‘ ‘ / / <
\1.182 Mg\ / @/1.082 n/
X \ | | s 7
s RN ‘ ‘ § S
e A S ® / =
\ 3\ /
ANIRAL T -V Woien/
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= \ \ ‘ ‘ / S
S \ \ / S
- \T7080 ml\ 0. 980 g/ -




1SEEEMFI7)—H()

— =TS tmE | TEE tin =30 ERER figgEav2—bk SR w5
H(m) Al(m) A2(m) a(m) b(m) n V=H X (A1+A2)/2 A=(a+b)/2 X HX 4 (1+m?)
1 1.000 2.670 0.000 1.34
2 1.600 7.966 2.670 8.51 0.00
3 1.400 1.067 0.406 1.303 1.080 0.000 1.03 1.67
4 1.400 1.067 0.406 1.303 1.080 0.000 1.03 1.67
5 1.000 0.408 0.000 0.500 0.000 0.500 0.20 0.28
6 1.000 0.383 0.000 0.500 0.000 0.500 0.19 0.28
7 1.600 0.589 0.408 1.300 0.500 0.500 0.80 1.61
8 1.600 0.541 0.383 1.300 0.500 0.500 0.74 1.61
9 1.400 0.663 0.589 2.000 1.300 0.500 0.88 2.58
10 1.400 0.613 0.541 2.000 1.300 0.500 0.81 2.58
0.00 0.00
a&t 15.53 12.28




1SEEEMFZI7)—H2)

e S tmE | TEE L3 =30l ERED MEEav o) —k B w5
= H(m) A1(m) A2(m) a(m) b(m) n V=H X (A1+A2)/2 A=(a+b)/2 X HX 4~ (1+m?)
1 1.000 0.300 0.000 0.000 0.15 Shukit
2 2.000 1.080 0.600 0.000 1.68 Eh:ukic S
a&t 0.00 1.83




BR-TER EEEEMBZIV7)—)

@ @ A= 1.700 m2
TE A= 0.000 m2

@ t@E A= 2.750 m2
T@E A= 0.000 m2

@ F@E A= 0.371 m2 EWE A= 0.371 m2
TE A= 0.260 m2 TE A= 0.260 m2
F@E A= 0.618 m2 @ EE A= 0.618 m2

TE A= 0.434 m2 TE A= 0.434 m2




AR -TER S EEEMEIV Y-

10001000

HEE 7 T %

JL B2
€32
1000 1118 500 3764 500 1118 _ 1000
30
_ 1.000 0. 500_n
8 ] 2 ) ]
= S| ©O S\ o.5p0m 0 oo??® =
of o @ [T SN
g g o °f [Fo &
1E X
1000, 1118 500 3764 500 1118_ 1000
118 1118 1f
g| @; 7 5/~% g[
S, 18 s 6.000 m 1.11&@ S,
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9 S.QN 9




25 EEREMGZIVIY—M1)

e ST LmEiE | TEE i :3v} EBES fEEa~o)—k DRSS E
Hm) | Alm) | A2(m) | a(m) b(m) n V=H x (A1+A2)/2 A=(a+b)/2 X H X { (1+m?)
12 1000 1.700|  0.000 0.85 0.00
13 1000  0371] 0260 0600  0300] 0500 0.32 0.50
14 1000 0371|0260 0600  0300] 0500 0.32 0.50
15 1000 2750  0.000 1.38 0.00
16 1000 0618 0434 1000  0500] 0500 0.53 0.84
17 1000 0618 0434  1.000]  0500] 0500 0.53 0.84
&t 3.93 2.68




BT HE R

£ R FOE R #H=
(FEET) 1.0 &Fr
av9\—k 18-8-40 2.90 29 m
iy INEY 11.64 116 m”
E#RA RC-40 11.63 116 m’
Br % [ b A H=1.1m #&&E%HA|[7.00 70 m




FEEIE-FEERT

SEEE M £ = NO.
&S
6000
5797 gﬁ
e SEEBHALMEH=T. Im
el .
6000 §
1783415797 ﬁ §:
§ 7142 327
g
g
g
&t
=D
B MR B = B ff =
avyl)—k
18-8-40 (1.362+1.562) /2%0.4%6.0 m3 3.509
-1/2%0.341%0.2%1.022%17 m3 -0.592
-1/2%0.203%0.2%1.022 m3 -0.021
=1 m3 2.90
Eidk e
INEY 0.4%6.0%3+(1.362+1.562) /2%0.4%2-0.2%1.022 m2 8.165
0.2%1.022%17 m2 3.475
=1 m2 11.64
HIERR
RC-40 1.662%7.0 m2 11.63
BRYERG LA
1.1m ¥:E&EYA m 7.0




ZEIRERAR

£ R FOE R M=

HEE< Y 61 61.0 m’

i DAZA) b .4 t=10cm 93.1+70.2 1633 m”
BERAT

HIFLT MEL 24m  [62+48 110 &K

B 1.4m 110 &K

srERtEAT D19 L=4.0m 110 K

EAITET 24N/mm2 48 +/0.016%110 18 m

24N/mm2 $X& |0.009%110 1.0 m

BERRALIE T 110 K

Bl FLEE R - A T EHEEZIE 2 [

R=UL T2 %% T £5:8-1=7E .k :9-1=8[H 15 [

BT 292.3+297.3 589.6 ZEm3




WBETYrT

SHEE = NO.
TEmEmiE A= 10.788 m2
AN
N
TE@EmfE A= 36.110 m2
B =B 85
2 2 29
1=
BB | MOE
HEETYE R 1:1.2 #1EH1.562
(10.788+36.110) /1.2%1.562 m2 61.0




a2 ') —hRet T (R EA)

N Wt T
A A B 2 e
m | HE ] T8 | BE | GE| ¥8 | 5E | hE| £6] 88 | BE| 78] &

No. 16 4.85
No. 16 + 2.300 2.460 6.60 5.725 14.08
No. 16 + 3.300 1.000 6.60 6.600 6.60
No. 16 + 6.480 3.620 8.08 7.340 26.57
No. 16 + 7.380 1.020 7.46 7.770 7.93
No. 16 + 9.300 2.160 547 6.465 13.96
No. 16 + 10.700 1.400 498 5.225 7.32
No. 16 + 17.300 6.670 0.00 2.490 16.61

A i 18.330 93.1 0.0 0.0 0.0




AV 7)) —bRF T (EEAD

B A B uk:le e
m | FE | 8| ke | vE | ¥8 | 5E | GE | 85 kRe | bE]| F8 ] &&

No. 16 1.02

No. 16 + 2.300 2.280 3.15 2.085 4.75
No. 16 + 3.300 1.000 3.15 3.150 3.15
No. 16 + 9.300 6.800 1.74 5.445 37.03
No. 16 + 10.700 1.400 7.74 7.740 10.84
No. 16 + 10.700 0.000 0.00 3.870 0.00
No. 16 + 10.700 3.980 1.53 0.765 3.04
No. 16 + 13.470 4.220 0.00 0.765 3.23
No. 16 + 13.770 0.300 1.75 0.875 0.26
No. 16 + 15.000 1.250 3.03 2.390 2.99
No. 16 + 16.100 1.120 2.56 2.795 3.13
No. 16 + 17.480 1.390 0.00 1.280 1.78

INET 70.2
A & 23.740 70.2 0.0 0.0 0.0




BEHEAL — FHHIARGEESE

HIFL& : L=AR LR - (R E+#E&H {3 F4X) =4.0-(0.1+0.1)=3.8m

A EAE FLEm)
pElpt X% MEL L1
g | 1 | 2 [ 3| 4] 5|6 11213 4]|s5s
No.16 09 17]25 29| 21]13
No.16+2.9 |HIfLFK| 1.3 | 18| 23| 28| 3.3 2520 15[ 10/ 05
No.16+10 182429 34 20| 140904
EHE 1.33]11.97[2.57(3.10] 3.30 2.47(1.83]1.23]0.70| 0.50
HEEHE 1.3]120] 263133 25[118[12]07]05
Z R AIFEEI . R (m)
pap=t X5 Et e
BBk [ 1 [ 2] 3| 4| 5| 6 11213 4]|s5s
No.16+2.9 192733 19[11]05
No.16+10 23| 29|34[38](38]38 1510904
No.16+17.3 [ HIFLE| 1.9 1.9
EHE 2.03[2.80]3.35]3.80(3.80 3.80 1.77]1.00[ 0.45
HEEHE 20]28|34[38[38]38 18] 10] 04




BHEAL — HBEMNHIARSGESE

A FEE LR (m)
IHH X5 Et e
B[ 1| 23| 4|5 67| 1] 23| 4|5]|6]7
EHEIFLE 1.3[20[26]|31|33[38[38|25]|18[12[07[05]|00]00
A 1413|1210 7 | 5[ 1 |14 13]12[10] 7| 5| 1
BEHIFLE 18.2126.0(31.2(31.0|23.1]19.0| 38 [350/23.4|144]| 70| 35[ 00| 0.0
HIFLE & & 152.3 83.3
A EE 62.0 62.0
ERAFEREIALE
palpt X% MEL L1
B | 1 2 13| 4|56 7]1 2 13| 4| 5|67
THHIFLE 20| 28|34|38|38] 38 1.8/10]04[00]00]00
RE 1513 8] 6] 3] 3 1513 8] 6] 3] 3
FEHIFLE 30.0(36.4[27.2(228[11.4[11.4] 0.0 [270[130[ 32 [ 00[ 0.0 00 00
HIfLE&&t 139.2 43.2
AHEE 48.0 48.0
IRSEYESHIAERE
MEL L= (152.3+139.2)/(62+48) = 27 m
e L= (83.3+43.2)/(62+48) = 1.2 m
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b
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AyFRILE
D19 SD345

Fim¥ryT
D19/

AyFaTFuk
D19

AR—H—
D19/

NIL—R
@ 45 x 200

B Ol |E =

Iy THES
150 X 150 X 9( ¢ 45)

AYERL Ty v—
¢ 74.5 % 25

B

NbFyryT
¢ 100 X 150

B

IS
24N/mm?2

3 -fad

V= 0.09"2%3.14/4%(2.4+0.1)

0.0159

m3

0.016

e
V= 0.0972%3.14/4%1.4

0.0089

m3

0.009




BHBAL-BEBEI&ER)

0 EBT
B A i A 3 e
m | H@E | T8 | BE | BE| FTH | RE| BE| FB ]| BE | KE | 8| &E

No. 16 16.41

No. 16 + 2.900 3.060 22.14 19.275 58.98

No. 16 + 10.000 7.900 16.62 19.380 153.10

i 850 7.900 3.68 10.150 80.19

op

A 18.860 292.3 0.0 0.0 0.0




BHBAIL-RBI(ER)

- T
A& i At Zma e
m | BmE ] FTH | HE | HE | FTH | RE | HE | FH | BRE | FE| 8| &=
ikl 7.89

No. 16 + 2.900 4.200 12.20 10.045 42.19

No. 16 + 10.000 7.900 25.24 18.720 147.89

No. 16 + 10.700 0.700 25.24 25.240 17.67

No. 16 + 10.700 3.68 14.460 0.00
No. 16 + 13.470 4.220 3.68 3.680 15.53
No. 16 + 13470 13.88 8.780 0.00

No. 16 + 17.300 3.880 13.88 13.880 53.85

i 850 1.450 13.88 13.880 20.13

op

A 22.350 297.3 0.0 0.0 0.0




EEIHEFHE)

SiEE L E H OHE E NO.
4EE N=2k
e S GEFE N=2 GEFE N=2%k 3
SEEE N-2K 5B N-2K ! F
MEE Ne2K 4B N2k

T
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EE I HEHHEG)

SEEE

felo

itOE OB

NO.

Ve

-

NO. 16+17. 30 (No. 3+17. 30)

GH=140. 706
FH=140. 987

BB (1~28) A= 13.‘875 m2

Ss—Ms alt
(CL ~CM#R)




EEIHEFHR)

SEHEE # HoE =

felo

NO. 16+10. 00 (No.3+10.00)

GH=140. 148
FH=140. 327

4500

BIBIT (1~6F) A= 25239 m2

4500

BEHTI (1~4E) |A= 16.615 m2

BIBIT (1K) A= 3.676 m2

BEHI (1K) A= 3.675 m2

DL=135. 000

é;—Ms alt

(CL~CM#R)
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SEEE
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felo

itOE OB

NO.

4500

RBiHT (1~58)

NO. 16+2. 90 (No. 3+2.90)

GH=137. 823
FH=136. 807

A= 22.140 m2

BEHEIT (1~3K) A= 12.199 m2
BIBIT (1~28) A= 7.886 m2

DL=135.000

4500

Ss-Ms alt
(CL ~CM#R)
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DL=135.000
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SEEE #H B F FE E NO.
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BT (1~38) A= 16.413 m2
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BEYRELINEESHR

e R it E AR =
avyl)—k |

B EE BRIV — 18.3

Bk EBEBEO ) —k 73.8

BRERRIERE TIURL 28.2

—msREFIIEL 12.5

5 132.9

WATEE t=10cm 22.9 22.9

22.9%0.01 0.2

E g A8 i 132.87+0.229 1331




RAR-ER (BIREEED V') —MRRL)

FEE )

® L@ A= 2.868 m2
F@E A= 0.000 m2

10} L& A= 1.181 m2
T A= 0.260 m2

o) L@ A= 4.780 m2
F@E A= 0.000 m2

E@E A= 4.932 m2
TE A= 2.348 m2

LB A= 1.181 m2
F@ A= 0.260 m2

® L@ A= 1.968 m2
TE A= 0.433 m2

® L@ A= 1.320 m2
TE A= 0.340 m2

s

® @ A= 1.968 m2
TE A= 0.433 m2

L@ A= 1.329 m2
F@ A= 0.340 n2

g

® L@ A= 1.556 m2
TFE A= 0.566 m2

aBFAER

1F E &

ERAIER

/ ® g \ /@%
g o g 1€ g O
g o g o g o £

HERAEE TEE @K
(#\E)
/® g & g§ & \ /
L/ o8 . 48§ 8l . - E® i
s 8 g s gl 8 g g
®: - @ - :®
© § & © § g o
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14600
5200 950 3000 950 | 4500
5.200 m 4.500 m
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_______5s00m ______4Astom
6.510 m [ 5.810 m
o
® | ® S
______540m__ 444,‘444, o AT%0m
‘ =)
© | @ g
4830 m 7130 m
2820 8960 2820

1300
1.300 m
o
OO S
1.300 m
o
OO 8
1,660 m_| 1
S
1.860 m (D@ S

1860




BREEERZEII)—F

e = tmEE | TEE LD = 3u} ERED figgar2')—k w5
H(m) A1(m) A2(m) a(m) b(m) n V=H X (A1+A2)/2
1 1.000 4.780 0.000 2.39
2 1.800 1.968 0.433 2.16
3 1.800 1.968 0.433 2.16
4 1.900 1.556 0.566 2.02
5 1.000 2.868 0.000 1.43
6 1.100 4.932 2.348 4.00
7 0.700 1.181 0.260 0.50
8 0.700 1.181 0.260 0.50
9 1.900 1.329 0.340 1.59
10 1.900 1.329 0.340 1.59
&it 18.34 0.00




BREEREI Y-

| & |EETE|EELD|@ETD|AELED[RYI)—K $o"8 ® wE
1 b | st | sz | bt | b2 | vend) V=H/6 x [ (2xal+a2) xbl + (2Xa2+al) xb2 |

1 1.000 4.830 5.430 1.860 1.660 9.02|1/6% ((2%4.83+5.43) *1.86+ (2%5.43+4.83) *1.66)

2 1.000 4.130 4.730 1.860 1.660 7.79|1/6%((2%4.13+4.73) *1.86+ (2%4.73+4.13) *1.66)

3 1.800 5.430 6.510 1.660 1.300 15.85|1.8/6% ((2%5.43+6.51) *1.66+(2%6.51+5.43) *¥1.3)

4 1.800 4.730 5.810 1.660 1.300 13.98]1.8/6% ((2*4.73+5.81) *1.66+(2+5.81+4.73) *¥1.3)

5 1.900 6.510 5.200 1.300 1.300 14.46|1.9/6% ((2%6.51+5.2) 1.3+ (2%5.2+6.51) *1.3)

6 1.900 5.810 4.500 1.300 1.300 12.73|1.9/6% ((2%5.81+4.5) *1.3+(2%4.5+5.81) ¥1.3)

op
E‘E

73.83




ERERATREfRAE THURL

== 3 = =
SEtEE H 2 M R & NO.
4900
5 4200 5
S
8040
570 N
TQT SfT
gl 8
8 2 <) 8 8 FIES
g & o0 NTE s s gl 2
& \2\% ~/s < S
o ) S O',
g g g
S S =
690 690 L 1520 Lzo

3000

=D
B MR Hi = = B ff =
avyy—k S
g (0.3+0.69)/2%2.6%5.7%2 m3 14.7
kapE
((4.41+3.0)/2%5.7+(3.75+2.335)/2%5.7)/2%0.7 m3 135
&t m3 28.2




ZEREFIIRL

EftEE B = B OEBE £ NO.
5000 ‘
_ - )
3k ;] ERC? Sk
B— [ g b
L " o
630 2700 [630|
=D
2 ¥R Hi = = B ff # =
avyl)—k EET
|\ (0.3+0.63) /2%2.2%5.0%2 m3 10.2
[EsRT
(0.3+2.7) /2%0.3%5.0 m3 2.3
&5t m3 12.5




R ZEIELMEBREE (2)

XKEEHE L FIEEELTRSHE

- e W1T,£$H¥i§b -
(m) B E | F | BME | WA | FH E | H@E | FH E | W@ | FHY £
0.000 0.0
No.3+10L7.70 3.980 4.7 2.35 9.4
No.3+10L4.10 3.600 1.3 3.00 10.8
CL 4.100 0.0 0.65 2.7
No.3+10R4.20 4.200 0.0 0.00 0.0
No.3+10R7.80 3.600 0.0 0.00 0.0
2.760 0.0 0.00 0.0
G 22.240 22.9 0.0 0.0 0.0
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BIfx

iz

. (m) & 1y Z3

3HI 5

,ﬂ]lll\ (mz) (mz) (m3) ﬁ%:%
No. 7+10.851 17.0
No. 7+13.954 3.103 6.6 11.80 36.6
No. 8+1.167 7.213 6.2 6.40 46.2
No. 8+5.767 4.600 8.0 7.10 32.7

&t 1155




FKEgHHEET

BitEE ® 2 i B =2 NO.
3000 BTIR (1-25)N=31%
3000%x1000%208
= / rF. .
=
H-300%300%10%15
L=3m
1RHY
2 - R E - S ¥ B )
BEIR
T-25 3000%1000%208 » 3.0
BHT
H-300%300%10%*15 93%3%2 kg 558.0
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